10/2019

Mod: D160E/7

Production code: T102BE

<9Diamond



TECHNICAL FILE

DIAMOND 2019

b -
< 9 Diamond
Diamond Europe SA / NV
Chaussée de Vilvorde 92 - 1120 Brussels - Belgium

Model D160-E/7

Code Production T102BE...

Interface :

q D Diamond

Pl Line

Overall Dimension (Width-Depth-Height) *open mm 1.968 x 770 x 1.615(2088*)
Packaging Dimension (WxDxH) mm 2.100x920x1800

t: Gross weight Kg 300
Net weight Kg 260
Volume mc 3,8
Rack size mm 500x500
Useable wash chamber height mm 450

A Tank wash construction deep drawn
Tank pre-wash construction deep drawn
General construction double skin
Door Construction double skin and insulated
Wash Tank volume liter 70
Wash Tank heating element w 10500
Wash Tank surface strainers stainless steel
Pre-Wash Tank volume liter 70
Pre-Wash Tank heating element w -
Pre-Wash Tank surface strainers stainless steel
Wash pump type double flow
Wash pump power w 1500
Wash pump delivery Lt/min 720

‘Il Wash temperature °Cc 60
Pre-Wash pump type double flow
Pre-Wash pump power w 1500
Pre-Wash temperature °Cc 45
Boiler volume liter 17
Boiler heating element (with 50°C inlet water) standard w 15500
Boiler heating element (with 10°C inlet water) w 27000
Boiler heating element (with 10°C inlet water +DCM-R/7 ) w 20000
Back-flow system valve
Rinse type single rinse
Pre-Rinse -

=g | Rinse temperature °C 82

| Rinse water consumption Liter /hour 270
Inlet water temperature °Cc Cold:10-40°C Hot:45-60°C
Optimal external water pressure bar from2to4
Drain system overflow

== Drain size G 1’ %"




b -
< 9 Diamond
Diamond Europe SA / NV
Chaussée de Vilvorde 92 - 1120 Brussels - Belgium

TECHNICAL FILE DIAMOND 2019

Productivity — speed 1 Racks per hour 200
9/\ | Productivity — speed 2 r/h 110
Noise level db <70
Conveyor power w 200
Electric Connection V-ph-Hz 400V 3+N 50Hz
N Max Electric Power with 50°C standard (+dry unit)* w 29500 (36050)*
Max Electric Power with 10°C (+dry unit)* w 41000 (47550)*
Max Electric Power with 10°C +DCM-R/7 (+dry unit)* w 34200 (40750)*
Plates racks Nr YES(x2)
Flat Rack Nr YES
Cutterly Rack Nr YES
Electric cable not included
Drain hose YES
Fill hose YES
Rinse aid and detergent dispenser (DDL-Y) Optional
Increase power for cold feed 10°C (DRC-W/7) Optional
Drying tunnel (DSM-A/7) Optional
Drying tunnel on 90° curve (DSM90-7) Optional
Heat recovery system (DCM-R/7) Optional
Suction system (DMA-E/7) Optional
Pressure reducer with manometer Standard built in
Emergency switch (SCP-7) Optional
End limit switch Standard buil in
Corner prewash (DRL-P/7) Optional
: ™~ § 350
INSERTI FILETTATI M5
THREADED INSERT M5 % % LUCE UTILE CESTO
BASKET MAX AVAILAELE SPACE
07 % % 1435
) PARTE POSTERIORE
I K o REAR SIDE
| i
Ir ~~—
— ]—308 953 _ INSERTI FILETTATI M5
- - VISTA LATERALE “~._THREADED INSERT M5
— SIDE VIEW
w0 l ° AGGANCIO SOTTOPIANO
) . LOWER SHELF BRACKET
AGGANCIO SOTTOPIANO : w — = ,
LOWER SHELF BRACKET / 8 { - o
e - 7
SEZIONE KK 1 H K |
385 204.5




iamond Europe SA / NV

49

Chaussée de Vilvorde 92 - 1120 Brussels - Belgium

DIAMOND 2019

TECHNICAL FILE

550 _
L N [ S (S A m_ ‘wr..
i 4 Rgnexts__ | RntExt g §
506° - . 3 3
h \_ﬁ_ __ _ Pre wash : Main wash o_m
ol | ¢ : :
¢ |
148 | [ am.u\
._.m__a .m,_u e | 126 g
5 & ! " 2 g Tl
|y 47l
L = e A B N
e 4 w o
hMWm 392
339 443 230
r u — ]
* USEFUL WIDTH FOR BASKET @K & _@\J\G
%% USEFUL HEIGHT FOR BASKET m EXIT B X
829 7 1139
1968
A S g 1"M2M D wwwne |2 PG11 Endswich
Al = %] “w._ ?___ m G %) NmO Steam exaust
B _ﬂ\._.wm 1 G3M4"M F _m.,.mw\_ A | @ 14 M Detergent inlet
£ ’y L) MPUCCI 15052015
C ~ PG36 Powersupply |H T @6 Equpotentl L <D @ 250 oryer suction * | — PUcC - — o _B




iamond Europe SA / NV

Chaussée de Vilvorde 92 - 1120 Brussels - Belgium

49

DIAMOND 2019

TECHNICAL FILE

|
550
_ 4 . _, LefExt &
3 g
508" ) ' 3 -
_n _ ___ _ |F Main wash 1 Pro wash o_h..m
\ g| ! ; m -
_/@f..! 1_ | g
| 148 I 107 m
m__a m1 ! 136 | |
il | Y Y :
Lo 1T o 7
i wopy W
385
427 396
ﬁuwl _ 7 ) 230
* USEFUL WIDTH FOR BASKET @W @m\& ﬁv\w
%% USEFUL HEIGHT FOR BASKET BT e ExiT
8 miu/@
1139 i 829
1968
=g MM D wuwno |2 PG11 Endswitch
Al = 2 31M E - D 250  steam exaust
B 5% G3/4"M F &) 7 |2 14 M etergent ikt
T, 10°C " 3 s nse ald inle H
B =5 | G3d'M G ) & |BTM Rusessina Installation layout | Rack Type 8
7 PG36 Powersupply | H ﬁ_v @6  Equipotential D 250 dryer suction 7 ) .,:.88 _Eﬁ L -






